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SH KRB
E: NN TG

ol EXF ALY X (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
NESIN); 13,119,561 6,298,676 6,820,885
= 10,030,800
& 3,088,761
NEHNE ARG RS 13,049,361 6,232,346 6,817,015
= 10,030,800
= 3,018,561
EXNEHAE X 5,100 7,400 A2,300
EXNEHHAIY 24 5,100 7,400 A2,300
201 LErEAH| 2,700 3,000 A 300
02 22294 2,700 3,000 A 300
OX&E&H| |AlHI 2,700
203 YRF=L&Y| 2,400 2,400 0
03 ABMF=AAIFZAIH| 2,400 2,400 0
OXNEGRFA 2,400
M= A0 XY A 300,237 219,549 80,688
= 94,000
= 206,237
CIXNEXNH TS ASEAL 94,000 50,000 44,000
= 94,000
308 AHXIEHHMSOIHA 94,000 50,000 44,000
= 94,000
01 XNXNHHBIAEXZ 94,000 50,000 44,000
OXN=ZAHEHIALS 94,000
= 94,000
NESsS HAE Y THIIESE 2 A 14,354 10,549 3,805
101 1A H| 14,354 10,549 3,805
10 JIZHZ22XNSES 14,354 10,549 3,805
OXNHEZPA o COEL LA
32,000 421 x 10 103 12,800
O4UEE S 1,554
ENERAX SEAMNY XA 90,000 90,000 0
308 AHXIEHHMSOIHA 90,000 90,000 0
01 XXNHHBAEXZ 90,000 90,000 0
OTHEAXIS=AY X8
300,000, 000& *30% 90,000
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Chol: DAUZHO NMHH P (S92l ®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SEHFAEX AL HEH 101,883 0 101,883

308 XXIEHXMSOIA 101,883 0 101,883
01 AXNSHHIABETZ 101,883 0 101,883
OSEHIEX XsLHEBIAY K& 101,883
NEHE DBt = 548,690 26,730 521,960
ANEESMH2AAE 25 X3 538,000 0 538,000
308 AXISHHMSOIA 538,000 0 538,000
01 XXNHHBIAZXZ 538,000 0 538,000
OXNESNHBCIAIAE 2= 538,000
SO0INEAOLE CIANES AFY =& 10,690 26,730 A 16,040
308 AHXIEHHMSO0IA 10,690 26,730 A 16,040
01 XXNHHBIAEXZ 10,690 26,730 A 16,040
OZ&0 NEYOE CIXEs K& 10,690
Xeld8e DBt = 12,195,334 5,978,667 6,216,667
= 9,936,800
= 2,258,534
MEA 282 L M 60,000 70,000 A 10,000
= 10,000
= 50,000
201 B2y 60,000 70,000 10,000
= 10,000
& 50,000
01 AtR22ld] 60,000 70,000 A 10,000
OMZFEAANY 28 20,000
= 10,000
< 10,000
OMZEAAIY EE (D) 40,000
T =22 XSHAIEZ HMASAIE K& 5,200,000 4,212,000 988,000
= 5,000,000
& 200,000
403 XXISHMSKHE0lH 5,200,000 4,212,000 988,000
= 5,000,000
& 200,000
01 XAXESHMA2EE 5,200,000 4,212,000 988,000
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ool X2lFE JIRE (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZZ22 XotAIE€= HASHALY
10,000,000, 000 *52% 5,200,000
= 5,000,000
< 200,000
XEAX I EEANAE S 850,000 500,000 350,000
207 Ao 850,000 500,000 350,000
02 HAHHE Y] 850,000 500,000 350,000
O3 XelBERS 850,000
E29 Y HAEHS FOHMY XN 6,085,334 1,196,667 4,888,667
= 4,926,800
& 1,158,534
403 XXISHMSKHE01H 6,085,334 1,196,667 4,888,667
= 4,926,800
& 1,158,534
01 XXSHHIH2EEX 6,085,334 1,196,667 4,888,667
O==zd & A=z 20¢
5,792,667 ,000& *50% 2,896,334
= 1,737,800
= 1,158,534
OMZF4 EAME FAXS Z|
6,378,000,000& *50% 3,189,000
= 3,189,000
HE2FZH (XX 70,200 66,330 3,870
o2& | 4,200 4,200 0
el | 4,200 4,200 0
203 YSRF=&d| 4,200 4,200 0
04 RAM2EIRF=EH 4,200 4,200 0
OXNHBAR =X 4,200
Jl23| 66,000 62,130 3,870
Jl=&d| 66,000 62,130 3,870
201 LEH23H] 32,000 31,530 470
01 AtR2teld 32,000 31,530 470
OX =YD XX 32,000
202 O4Hl 34,000 30,600 3,400
01 3L 34,000 30,600 3,400
LRSS 34,000




